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GOOD MORNING!
Concluding Remarks on Phone tics

Instructor: What do we mean by the verb “glide”?

“To glide” means to move from one point intg anothe,
without making effort or noise.

Why am I talking about ‘glide’?

Student: Because we have it in diphthongs.

Instructor: Yes. In each diphthong, we have 3 gliding
from one sound position into another.

Last time, we talked about diphthongs & triphthongsg;

Now, let us review together the diphthongs.

Quick Revision:

How many diphthongs do we have in English?

Student: 8.

Instructor: Exact]

closing diphthongs.
have?

Student: 3.
Instructor; Yes. Ho

y! They are divided into centering &
How many centering diphthongs do we

W many closing diphthongs do we

have?
Student: 5.
DIPHTHONG
centring closing
/\\\\
endin<a ending in 1 ending in u
e /]\\ | A \

€1 at al =13 au

Ilstructor: Yes.
e Er——
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Now, let us have some examples about diphthongs. I am

going to give you a word, and you have to guess the
diphthong that we have in it.

Which diphthong do we have in the word ‘main’?
Student: /el/

Instructor: That’s right.

Which diphthong do we have in the word ‘boy’?
Student: /51/

Instructor: That’s right.

Which diphthong do we have in the word ‘sign?
Student: /ai/

Instructor: That’s right.

Which diphthong do we have in the word ‘take?
Student: /er/

Instructor: Yes.

Which diphthong do we have in the word ‘fine’?
Student: /ar/

Instructor: Yes.

Which diphthong do we have in the word ‘fate’?
Student: /er/

Instructor: Yes.

Which diphthong do we have in the word ‘how’?
Student: /av/

Instructor: Yes.

Which diphthong do we have in the word ‘hair’?
Student: /ea/

Instructor: Yes.

Which diphthong do we have in the word ‘no’?
Student: /a30/

Instructor: Yes.

Which diphthong do we have in the word ‘cow’?

n(glgnwar.us 3 A\
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Student: /av/

Iastructor: Yes.

Which diphthong do we have in the worq by

Student: /ai/

Iastructor: Exactly.

Which diphthong do we have in the word "Poor’?

Student: /va/

Instructor: Yes. So, these are some CXampleg
diphthongs.

Now, when we move from one vowel into another gp g
then we glide into a schwa, we form triphthongs.

Triphthongs

Iriphthongs are actually composed of closing
diphthongs with a schwa added at the end.

I. /ai/ asin ‘fire’

2. /end/ as in ‘layer’

3. /519/ as in ‘loyal’

4. /ovo/ as in ‘lower’

5. /ava/ as in ‘power’

Now, let us take some examples of triphthongs.

f

/aia/

ire wireless
iron choir, quire
til’ e, tyl' e Sir ¢
Jiery pliers
spire Irish
lier Ireland
desire acquire
hire, higher inspire
[her dial
buyer, byre pious

.’;’sﬂm‘ War.us 4 m
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dyer, dire violin
prior require
wire
/e1d/
player payer
gayer soothsayer
petrayer layer (one who lays)
conveyor greyer
slayer bricklayer
/o19/
royal lawyer
loyal sawyer
employer coyer
[aud/
grower rower
blower lower
mower thrower
/ava/
our, hour towel
bower Sour
tower [flour, flower
cower power
shower dower
trowel lour
bowels

Now, who can read the following?

mar a:nts ko:ld &n. / [i:z o pa:ttaim ‘ti:fs. /f1: govz tu:
3: sku:l pn ‘'mandeiz, 'fuzdeiz on '03:zdelz.

Student: My aunt’s called Ann. She’s a part-time
teacher. She goes to her school on Mondays, Tuesdays
and Thursdays.

n@@nwar.us 5 A\
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on 0oz deiz/ [i: br'ginz ‘ti:ffin ot namn o 'klpk g3
ni, /ond 3: ‘kla:siz end at fo:r o'klnk n My \

o1 'a:fto nuin.
~ Student: On those days, she begins teaching 4

o’clock in the morning, and her classes end g fo

o’clock in the afternoon.
[i: sterz at havm pn 'wenzdeiz an ‘fraideiz. /fi: dazp

ti:ff ot 9:1 pn 000 Z de1z.

Student: She stays at home on Wednesdays apgq
Fridays. She doesn’t teach at all on those days.

fi: sterd ot hoom la:st ‘frarder/ an fi:l ster ot hovm

nekst ‘wenzder.
Student: She stayed at home last Friday, and she’ll stay

at home next Wednesday.

h3: sku:lz o Ioy wer from 89 braunz havs. ’

Student: Her school’s a long way from the Brown’s
house.

ssu a:nt &n ju:zvsli govz tu: wik bar ‘andagravnd.
/1. 'katfiz o trem ot wodsaid pa:k “sterfon. O1s ‘sterfanz
kwait klooz to da havs.

Student: So Aunt Ann usually goes to work by
underground. She catches a train at Woodside Park
station. This station’s quite close to the house.

Ji stops m 05 trem / oz far oz i:st finfli: 'sterfon./[i:
gets aot av 09 trein dea.

Student: She stops in the train as far as Fast Finchley
station. She gets out of the train there.

) .fam derz/ fi: wo:ks fram i:st fintfli: to 8o sku:l./ pn
remi derz/ mar 'Ankl teiks 3:r 5:1 8o wei in 8o ka:. / hi:

draivz 3: from 0o haus to 82 sku:l / an li:vz 371 ot 39 sku:l
erns./

n@.‘m 6 A\
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gtudent: On fine days she walks from East Finchley to
the school. On rainy days my uncle takes her all the way

in the car. He drives her from the house to the school and
leaves her at the school gates.

nstructor: Good. T will send you the text with its
honetic transcription to practice it at home THOUGH IT
1s NOT REQUIRED FOR THE EXAM.
The Whole Text:
Text A My Aunt &
My aunt’s called Ann. She’s a part-time teacher. She
goes 10 her school on Mondays, Tuesdays and
Thursdays. On those days, she begins teaching at nine
o’clock in the morning, and her classes end at four
o'clock in the afternoon. She stays at home on
Wednesdays and Fridays. She doesn’t teach at all on
those days. She stayed at home last Friday, and she’ll
stay at home next Wednesday. Her school’s a long way
from the Brown’s house. So Aunt Ann usually goes to
work by underground. She catches a train at Woodside
Park station. This station’s quite close to the house. She
stops in the train as far as East Finchley station. She
gets out of the train there. On fine days she walks from
East Finchley to the school. On rainy days my uncle
takes her all the way in the car. He drives her from the

| house to the school and leaves her at the school gates.

B Its Phonetic Transcription:

mar a:nt
/mar a:nts ka:ld een. / [i:7 2 pa:ttaim ‘ti:ffa. /fi: gooz
tu: 3: sku:l on ‘'manderz, tu:zderz an 03:zderz./ vn
davz dery/ [i: br'gmz ‘ti:ffiy at nain 2 'kivk 1n 02
‘mo:nm, / and 3: 'kla:siz end at fo:r 2 'klpk 1n 0L

| f [ 7 A\
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adfto nucn./ fi: stexz ot hoom pn wenzderz op — |
//;} daznt ti:ff 2t 2:1 vn 0207 derz./ ﬁ sterd ot hy,y,, ; I2. |
‘frarder/ an fi:l ster ot haom nekst ‘wenzder./ hs, Ky
2 Iy wet fram 02 braunz haos./ sa0 a:nt cen ju~'3()$lzl"
gaog tu: w3k bar 'Andagml'md. i kediz 5 gy, 5
wodsard pa:k ‘stetfon./ 1S stetfonz kwait klxoy ¢, i
haos. [i: stops m 0o tremn / a7 far az ixst fiyq.
‘stetfon./fi: gets aot av 02 trein 0€a. bn Jam dery ;.
wosks from i:st fintfli: ta 02 sku:l/ on reini dery/ mg,
wpkl teiks 3:r 2:1 02 wei in 02 ka:. / hi: draivy 3; fi,,,
02 haus 12 02 sku:l/an lizvg 3:r at 02 sku:l gerts./

Iastructor: Now, let us practice another text.
" Text BMy Uncle

My uncle’s name’s John Brown. He’s a builder, ang
an excellent carpenter. He employs six other workmen,
One of these men’s a painter. Another’s a bricklayer. A
third’s a plumber. The other three men sometimes help
my uncle. Sometimes they help the painter. They often
work with the bricklayer. They fetch bricks for him, or
mix the mortar. They never help the plumber. He always
works alone. My uncle’s yard’s at the end of the garden.
He keeps all his tools there, and his builder’s van. I've
been to the yard several times. It’s full of interesting
things: ladders, pipes, tiles, slates, doors, windows,
chimney-pots, and lots of other useful materials.

PN The Text’s Phonetic Transcription:
mar ‘ankal
mar Ankslz neimz dson braon./ hi:z o 'bilds, /ond
an ‘tksalont ‘ka:pmta./ hi: mm'ploiz siks 409
‘wikmon./ wan av 0i:z menz o 'peinta./ 3 nadoz 3
bnk lern./ 3 03:dz 3 'plama./ 8i 'Ado Orii men

a N S t

.
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‘gamtarmz help mar "Apksl./ 'samtarmz oer help 09

oemta./ 0€l ‘pfon w3:k wid 0o 'brik lers./ der fetf
priks forr 1M/ 9! miks 03 'mo:ta./ der 'neva help 09
jama./ hi: ‘lwerz wa:ks 5'loon./ mar ‘ankalz ja:dz
5t 0i end 3V 0o ‘ga:d®n./ hi: Ki:ps :1 1z tu:lz dea,/ 2end
iz 'bildoz veen./ arv biin t3 89 ja:d 'sevral taimz./ its
fol av ‘itrastin 0mz/ ‘laedoz,/ paips,/ tailz,/ sleits,/
oz, 'windavuz,/ 'tfimni pots,/ an Ints av 'A0d ju:sfol
ma'tlarialz./

So far, we have been talking about phonetics, and we
have described many phonemes. How many phonemes do
we have in English?

Students: 44.
nstructor: Exactly! So, we have described 44

phonemes in phonetics.
In phonetics, we have ‘phonemes’, and we have

‘allophones’.
Phonemes Vs. Allophones

Let us start with phonemes.

Phonemes:

What do we mean by a phoneme?

Student: It is the smallest unit of sounds.

Instructor: Exactly!

A phoneme can be defined as the smallest unit of
/;md which can distinguish two words.
~ Phonemes sometimes work as ‘minimal pairs’. What
do we mean by ‘minimal pairs’?

For example, /p/ and /b/ work as pairs. Other examples

are: (/s/ & /z/), (t/ & /d/), /f] & 3/, etc.).
So, this is the first feature of phonemes; they are

minimal pairs.
n[algnwar.gs 9 A\
AL ANVVAR
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Now, because they are pairs, they Work G
What does this mean? Fag,

For example, the word ‘bus’ has 3 Specifi.
Now, if I change the last consonant with . Pairme'
will have a different word with a differe, b (b
here we have minimal pairs. When we change tfll]m 8
whole meaning of the word will change. o,

Let us see another example. Compare
and ‘pan’. As you can see, when we chgp
the meaning of the word changes.

Another example is “pea” & “bee”.

Another example is “met” & “mat”.

So, here I am changing one phoneme j
changing the phoneme, the meaning
changed. That’s why minimal pairs work

etween ¢

ban’

n the worg By
of the wor( 1

contrastively,
B4 Allophones:

The different realizations of a phoneme are c&?/&ﬂ
allephones.

Allophones are using the same

are phoneme by with
different realizations. What does this mean?

The word ‘tea’ /t"i-/is said WM}@“ e |
with a sound like /h/ coming after the r

elease of the gjr
Jrom the oral cavity. But in the word ‘eat’ the /i/ i
unaspirated. Whether we say the word /tea/ with o

without aspiration, that does not change the meaning of
theword ‘tea’. The same applies to the word ‘cat’ |

S0, sometimes, we pronounce the /t/ with aspiration /t"
(as in ‘tea’), and sometimes WE pronounce it without
aspiration /t/ (as in at’). So, the aspirated /t"/ and the

unaspirated /t/ are two realizations of the phoneme /t/.

n@iﬂﬂi& 10
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Usually, v.vhe.n we use /.t/ at the end, it is pronounced
ut aspiration (e.g. ‘night’). Also, if /t/ is used after

witho : _
o, it is pronounced without aspiration as well (e.g.
‘stOP’)- :

g0, this 1 what we mean by allophones. Are allophones
the same phoneme”

Gtudents: Yees! |

[nstructor: That’s right! Allophones are the same
poneme but with different realizations.
pDoes the meaning of the word change by saying a

certain phoneme with or without aspiration?

Gtudents: No!
[nstructor: Ok.
So, the first example of allophones is /t/.

Gimilar to /t/, we have the /p/ sound. /p/ can also be

ronounced with aspiration /ph/ or without aspiration /p/.

Another example is the /I/. We have two realizations of
the /I/ sound.

The clear /l/ and the dark /¥/ are also the allophones of
the phoneme /l/ in English.

So, we have clear /I/ and dark /¥/.

Clear /I/ occurs only before vowels. Dark /t/, on the
other hand, occurs only before a consonant.
Let us take examples of these two allophones:
Clear /I/ | Dark //

Leave Built

Lift Ball

[Eet Call

Look Bulk

Log Milk

Lose Silk
“lglgnwar.us 11 A\
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EASEAS RO

Fly Oil
Fleet Ful

" Sice one allophone can b? substituted f,,. ;}zi(} |
without changing the meaning, we say  thy the ’ther
redizations are in free-variation. W |

Sp, as you can see here, we have free“’ariati |
Whether you pronounce the phonpme as clear /) Ong,
/I/, this doesn’t change the meaning. Similariy Whetark
you pronounce /p/ or /t/ asplratgd OF Unaspirgteq t}?r
meaning will still the same. So,. th1§ 1S What > lhe
free-variation. Phoneme’s realizations don
meaning.

Student: Does the same apply to the ifferey
realizations of (-ed).

Instructor: Yes. This doesn’t affect the Meaning ,.
well. We know that we have three different realizations o
(-ed) depending on the phoneme that precedes it: I, 14/ &
/1dJ.

But to English speakers, for example, the T
realization of /{'/ will never be found in the Place whey,
the unaspirated realization /t/ is appropriate, an Vice
versa. When we find this strict separation of place
where particular realizations can occur, we say tha;
realizations are in complementary distribution,

So, native speakers know where exactly they should
pronounce the sound with or without aspiration.

Although sometimes it doesn’t change the meaning
whether we pronounce a certain sound with or withou
aspiration, we have some cases where we necd 1o say it
properly in order to be fully understood. Such cases arc

n@iﬂﬂiuﬁ 12 ,ﬁ\
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called complementary distribution. So, sometimes. you
have 1O be strict when dealing with aspirated or
unaspirated sounds.

qo, these are the most common realizations.

Now, I want o show you another type of realizations.
Hor example, We ha'we the word ‘kitten’. Some people
would pronounce it as /kiton/; other people would
pronounce it as /ki?on/. Another example is ‘bottle’.
gome people would pronounce it as / botal/; other people
would pronounce it as /ba:?al/. So, we have so many
realizations in English, but we have mentioned them most
common ones (allophones).

* 4k

Phonemic System:

We have two types of transcription: broad transcription
& narrow transcription.

> In the broad transcription, we just use the
phonemes. We don’t use allophones. This means that we
don’t see realizations in this kind of transcriptions. Most
dictionaries follow ‘broad transcription’. We put a broad
transcription between two slant brackets (/.../)

E.g. The words fop and sfop are transcribed as /[top/
and /stop/.

» In the narrow transcription, we put both
phonemes and allophones. This means that we include
realizations in this kind of transcriptions. ~ We put a
narrow transcription between two square brackets [...|.

E.g. The words top and sfop are transcribed as [t"op]
and [sthnp].

This is all about phonetics. Now, let us move to
phonology.

the

'i[glgnwar.us 13 A\
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Phonology

What is phonology?

When we talk about how phonemes function
language and the relationships among the differep,
phanemes, then we are talking about phonology.

It is the study of the relationship or the Sequence
between phonemes or sounds.

In every language, we find that there are restrictiopg
on the sequence of phoneme that can be used. [y
example, no English word starts with the consonant
sequence zbf and no word ends with aeh.

So, since we have sequences or relationships between
sounds, then we might notice that we have some
restrictions on these sequences.

For example, we can’t have a word that starts with (zbf),
Thss 1s a restriction in English. So, phonology pinpoints

the correct sequences in English.
%k %k

Suprasegmental Phonology:

Here, we deal with things that we put in segments. What
do we mean by ‘segments’?

Student: Parts.

Instructor: Yes. Now, when we say ‘suprasegmental’,
then we are talking about additional things that we can
putin the word.

The first suprasegmental feature that we can put in a
word is stress.

What is the stress in English?

Student: The stronger syllable in a word.

Instructor: Yes.

'i[glanwgr.ggg 14 A\
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Does the part of speech of a word remain the same
whether we put the stress on the first part or the second
part of that word?

Students: No!

Instructor: Exactly! Let us take the following example:
[ When a word like ‘import’ is pronounced with the first
syllable sounding stronger than the second, English
speakers would hear it as a noun, whereas when the
second syllable in the word ‘im’port’ is stronger, the
word is heard as a verb.

So, this is related to suprasegmental phonology.

The second feature of suprasegmental phonology is
intonation.

Do you know the meaning of intonation?

Student: Tone of voice.

Instructor: That’s right.

If the word ‘right’ is said with the pitch of the voice
rising, it is likely to be heard as a question or as an
invitation to a speaker to continue, while a falling pitch
is more likely to be heard as confirmation or agreement.

So, if I say ‘right’ with a rising intonation T, you
understand that I am asking you a question. So, you can
immediately understand that I want to assure that my
information is correct. On the other hand, if I say ‘right’
with a falling intonations ¥, the listener would understand
that it 1s a confirmation or agreement.

So, these are what we call suprasegmental.

Next time, I will talk about stress and intonation in more
detail.

That’s all for today.

Thank You!

AL ATNVVA R
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GOOD MORNING!
Phonology

To Recap...
Last time, we reviewed all diphthongs anq
Then, we moved to talk about the differencg

phanemes and allophones.
What is the difference between alloph,
€S ang

phenemes?

Student: Allophones are the same phoneme 1},
different realizations. ut
Instructor: Exactly! When we change a phope
change the whole meaning of the word. HOWeve:ne’, We
we change an allophone, this does not affect the m’e'“ hen
of the word. Hence, with allophones, we are talking ‘;gm‘é
sound’s realizations. e

After that, we moved to talk about the suprasegmengy|

features like the stress and the intonation.
We also showed the differences between narrow and

broad transcription.

Do you have any questions?
Student: How many allophones do we have in English?

Tastructor: [ told you about the most common oncs.
Student: So, there are more allophones other than the

ones we’ve talked about.
Instructor: Yes. There ar

depends on the accent as well.
% % %

iphthOngs
S between'

With

e more allophones, and this

Al ANYVE |
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u.gn_sqi_p@ion on the slide, and ﬁou have to guess the word.

i Studcnt It is ¢ E"]AO-\.Nlnédge’_

e

Now, let us have a quick practice. You will see a

Instructor: Exactly

Student: It is ‘thanks’. T
Instructor: Exactly!

kraim

Student: It is ‘crime’.
Instructor: Exactly!

f1z.1ks

Student: It is ‘physics’.
Instructor: Exactly!

tfzl.dren

Student: It is ‘children’.
Instructor: Yes!

|

Student: It is ‘crime’.
Instructor: Exactly!

m1d.°l exd3d

Student: It is ‘middle-aged’.
Instructor: Exactly!

graed3.u.st

Student: It is ‘graduate’.
Instructor: Ok.

n@lgnwgr.ggg 17
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//, plez.o
ent: It is ‘pleasure’.

Stud
[nstructor: Yes!

greev.a.fi

Student: [t is ‘gravity’.
[nstructor: Yes! Notice the realization on the /t/.

l spiff

Student: It i ‘speech’.
[nstructor: Nies!

i maeb

Student: It is ‘math’.
Instructor: Yes!

kan greetf.e ler.°n

Student: It is ‘congratulation’.

Instructor: Exactly!
Now, let us move to transcribing sentences.

/mal mam neve ‘da:nsiz/ J
Student: My mum never dances.
Instructor: Exactly!
r /a ju heepl ta'der/ j

" Student: Are you happy today?
Instructor: Exactly!

/a1 fad it mo: frut/

Student: I should eat more fruit.
Instructor: Exactly!

ndﬂm 19 A\
AL ANVVAF
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I /hi ‘samtaimz kuks lang/ |
Student: He sometimes cooks lunch.
Instructor: Exactly!
L /mar ‘fervarit 'kals 1z blu:/ J
Student: My favorite color is blue.
Instructor: Exactly!
[ /wea daz hi: liv/ )

Student: Where does he live?
Instructor: Exactly!

Now, let us move to a paragraph.
/ m britan an(d) a'raund 02 w3:td / 6i 1mid3 av 03 feemaili
kant"mju:z ta tfemnds // da tradifont vik't"o:rron faemaili /
m witf 02 man waz 02 bredwine / &2 wuman 02 hoummeika /
an(d) da tfridran njuzmaras an/d/ abi:dront / 1z giviy) weis
ta nju: ar'droz 2'baut wot 09 mpdoan femili fad luk laik // /
» The Transcription:

In Britain and around the world, the image of the family |
continues to change. The traditional "Victorian family”,
in which the man was the breadwinner, the woman the

homemalker and the children numerous and obedient, is
giving way to new ideas about what the modern family

should look like.
B Stress

Now, I am going to ask you a que

£

stion.

4 S

“Harry KaneHurricane

nz’dgﬂﬂgw_s 20
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what 1 the difference between ‘Harry Kane’ and

°hurricane? i
student: Pronunciation.

Student: Meaning.
[nstructor: Exactly! It is all about the stress. In “Harry

1 put the stress on the second word “Kane”. In

[(ane’,
shurricane”’, [ put the stress on the first part

«HURRIcane™.

So, sometimes the stress can ¢
time, we said that the stress can chang
(e.g. ‘import & im port).

What do we mean by ‘stress™”

First of all, when I stress a syl

hange the meaning. Last
e the part of speech

lable, what do I do in the

word?

Student: I emphasize.

Instructor: Ok. So, 1 make that syllable more
prominent.

From the point of view of production, stressed

syllables are produced with more muscular energy than
unstressed ones. From the perceptual point of view,
stressed syllables are more prominent than unstressed
s. i.e. They are heard by the listener 1o be more

syllable

prominent.
So, when I stress a syllable, 1 make it more prominent

than unstressed syllables. This means that [ give it more

muscular energy.
What do I mean by a “syllable”?

Student: xhisl

Instructor: Ok. A syllable is a unit of spoken language
that forms an entire word or parts of words. Syllables are
usually made up of a single vowel sound and any

n@m 21 A
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surounding consonant sounds. For instance, the word
‘butter’ contains two syllables: ‘but’ and ‘ter’.

So, in each syllable, we should have only one vowel.

In any word, we should have only one stressed syllable
(monosyllabic words).

Now, sometimes, the whole word consists of one
syllable (e.g. ‘cat’). Other words might consist of many
syllables (e.g. ‘butter’).

Let us see examples of monosyllabic words:

- Cat, dog, car, nice, shy, etc.

Let us see examples of words that have two syllables:

- Apple (ap-ple), modern (mod-ern), tiger (ti-ger),
etc.

[ can identify the number of syllables in a word by
doing the following:

(Ms. Dania knocks on the table two times while she says

the word ‘apple’)

There is another way to count how many syllables are ina
word. You can hold your hand under your chin and count
how many times your jaw drops down to touch your hand.
Tiger, for example, will make your jaw drop twice: ti-ger.

Let us see examples of words that have three syllables:

_ Saturday (Sat-ur-day), hamburger (ham-bur-ger),
Detember (De-cem-ber), confident (con-fi-dent),
remember (re-mem-ber), etc.

Let us see examples of words that have four syllables:

- Television (te-le-vi-sion), generation (ge-ne-ra-tion),
traditional (tra-di-tion-al), etc.

So, this is what we mean by a syllable. Usually, one
syllable is stressed in a word.

How do I make ‘a stressed syllable™?

HM 22 ' A
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Student: By changing my voice.

[nstructor: Yes. I make my voice louder. So. I can
make the syllable longer and louder. :

We also can identify a stressed syllable because of the
pitch. What do we mean by “pitch’?

Student: It is the tone.

Instructor: Yes. It is the music of the word.

Also, you may guess the stressed syllable from the facial
expressions. Sometimes, it is clear from your face that you
are stressing a certain syllable. This leads us back to the
idea that stresses syllables are more prominent.

Now, let us see examples:

- Coffee: How many syllables do we have in the word
‘coffee’?

Student: Two.
Instructor: Yes. It is (co-ffee). Where is the stress?

Student: It is on the first syllable.

Instructor: Yes. In transcription, when you want to
separate between syllables, you put (). When you want to
show the stress, you put (). Hence, the word ‘coffee’ 1S

transcribed as the following: [ knf.i]
_ Saturday: How many syllables do we have in the

word ‘Saturday’?

Student: Three.
Instructor: Yes. It is (Sat-ur-day). Where is the stress?

Student: It is on the first syllable.

Instructor: Yes, [ s@t.a.dei]
- Repeat: How many syllables do we have in the word

‘repeat’?
Student: Two.
Instructor: Yes. It is (Re-peat). Where is the stress”
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Student: It is on the second syllable
Instructor: Yes, [r1 pr:t]. .
- No: This is a word th '
’ at consists of only one
ThatC s why the stress is on the whole word 4 e
- Campaign: How man . '
S y syllables do we have in the
Student: Two.
Instructor: .Yes. It is (cam-paign). Where is the stress?
Student: It is on the second syllable.
Instructor: Yes, [kaem'pem].
- December: How many Sy
word ‘campaign’”?
Student: Three.
Iastructor: Yes. It is (De-cem-ber). Where is the

stress?
Student: It is on the second syllable.

Iastructor: Yes, [dr sem.ba].
NOTE: The schwa /a/ 1s never stressed.

S Levels of Stress:
nly one stress in the

As you can notice, we can put 0
we call the primary stress.

word. This is what

1) Primary Stress: It is the strongest 1ype of stress or
prominence. We mark primary SIress by placing a small
vertical line hi [], just bejore the syllable.
Now, when We h > this means that
we have a ‘secondary stress’.
What do we mean

2 Secondary Stress:
but stronger than the stress of other syllabl

' secondary SIress by placing a low mark [ ]

svllable —

ges

g WV AT

llables do we have in the

stress’? -

It is weaker than primary stress}
os. We mark

hefore the

Al ~»
A
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.

ol US have the word ‘pronuqciation’ as an example.
How many syllables do we have in this word?

student: FIVE

[pstructor: Exactly! Where is the stress?

gudent: [t 1s on the fourth syllable.

[nstructor: Yes, [pro nansierfon]. So, the fourth
syllable is the primary stress. However, we still have
another part that '« stressed, which is the second syllable
(proNUNciAtion). The second syllable is stressed, but it is
weaker than the primary stress, which is the fourth syllable.

Let us see another example.

- Photographic:

How many syllables do we have in this word?

Student: Four.

Instructor: Yes. It 1s (pho-to-graph-ic). Where is the
primary stress?

Student: It is on the third syllable.

Instructor: Exactly! Where is the secondary stress?

Student: It is on the first syllable.

Instructor: Yes, [ fou.to grefik].

As you can see, there are some syllables that are
unstressed. So, we have unstressed syllables.

Unstressed spllables are marked by an absence of
prominence as in the first syllable of the word (a round

/2 ravnd))

So, in one word, we might have a primary stressed

syllable, secondary stressed syllable and unstressed
syllables.

Place of Stress:

Luck.ily, we have some rules that help us identify the
stress in a word. Now, let us discuss these rules.

n/glg nWar.us 25 A\
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| The first rule is about nouns, adjectives and verbs,

a} Nouns:
We put stress on the first syllable when saying a two-

svliable noun.
- Tgble, garden, culture, campus, etc.
So, in two-syllable nouns, we stress the first syllable.

bj Adjectives:

If the word is a two-syllable adjective, as with two-
svllable nouns, we usually place the stress on the
FIRST svllable.

- Happy, little, early, perfect, mobile, etc.
So, in two-syllable adjectives, we stress the first

syllable. Of course, we have some exceptions for all the
rules, but let us focus on the main rules.

¢) Verbs:
If the word is a two-syllable verb, we generally stress
the SECOND syllable.

_ Accept, enjoy, improve, believe, avoid, repeat,

repair, allow, etc.
So, in two-syllable verbs, we stress the second syllable.

So, this is the first rule.
' The second rule is about noun/verb words which

are differentiated by the place of stress. We change
the part of speech of these words by changing the

nlace of the stress.

Noun
Protest / prov.test/ To protest /pra
| Suspect/ ‘'sas.pekt/ To suspect /sd *
Decrease / di:.kri:s/ To decrease /d1 |
Increase / in.kri:s/ To increase /mn -
26 ﬁ‘;‘,\,,m
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To import /im po 1/ |
To conflict /kan thikt/
To insult /i salt/
th nouns, W€ stress the first syllable. With
o stress the second syllable.
., Words with Affixes: Preﬁxes & Suffixes:
What do we call (-tion) in ‘question’?

gtudent: It is a suffix. .
[nstructor: Ves. Can we stress suffixes in general?

Students: No!

[nstructor: O
word ‘question’?

Student: It is on the first syllable.

[nstructor: Yes, / kwes.tfon/
» A prefix is an affix which is placed before the root

of a word.
» A suffix is an affix which is placed after the root of a

k. So, where do we put the stress in the

word. |
Usually, prefixes and suffixes are not stressed.

Let us see some examples.

- Surprise
Here, we only have the root of the word. The stress here

is on the second syllable /sa'praiz/. Now, let us add a

suffix:

- Surprising

Here, the stress is still on the same syllable /so prar.ziy/.

Now, let us add another suffix.

- Surprisingly

Here, the stress is still on the same syllable
/33 prav.zm.1i/,

Now, let us add a prefix:
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- Unsurprisingly

The stress is still on the same syllable /an.sa prar.zim.li/.

S, the stress is on the same place; we are not stressing
the suffixes or prefixes.

However, we sometimes have suffixes that can move
the place of the stress. Let us see some examples:

- Photograph:

Here, we have three syllables. The stress is on the first
syllable /' fav.to.gra:f/. Now, let us put the suffix (-er).

- Photographer: The stress now is on the second
syllable /fa'tng.ra.fo/. As you can see, the suffix has
moved the place of the stress. So, in rare cases, the suffix

canmove the place of the stress.
Now, let us move to compound nouns.

4) Compound Nouns:

What do we mean my compound nouns?

Student: Two words are joined together.

Instructor: Yes. Two words are joined together to

make a new word (e.g. ‘newspaper’).
It is very common for compound words which are

nouns to have stress on the first element.

Let us see some examples:
_ Website, teapot, moonlight, blackbird, chairman,

bedroom, breakfast, etc.
In these words, the stress 1s on the first element.

Spmetimes, we put a hyphen (-) between the elements

of 2 compound word:
_ Part-time, heart-warming, hard-working, old

fashioned, etc.
In this kind of compound words, the stress i

second element.

s on the

EAN
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V

e still have one rule.
Gtress in Sentences:
W}; to distinguish between two types of

words in a sentence: Content Words & Function

Words.

go, in sentences, we have content words and function
words.

5 Content Words are the words that have a dictionary
mean—i;g such as nouns, verbs, adjectives and adverbs.
They are the most important words in a sentence.

» Function Words (Grammatical Words) are words
which do not have a dictionary meaning; rather, they
show grammatical relationships in and between
sentences. Conjunctions, prepositions, articles, auxiliary
verbs, pronouns, etc. are function words.

Let us take an example:

-1 am teacher.

(I) & (am) are function words. .

(teacher) is a content word. This is the word that carries
the main meaning of the sentence.

So, content words carry meaning, whereas we use
function words just to make the sentence grammatically
correct.

% Content words should be stressed in the sentence.

Let us take an example:

- T have been 'teaching.

So, here, [ stress the content word ‘teaching’,

As far as stress in sentences is concerned, it is the
content words that carry the stress.

Let us take some examples:

- | 'took a 'photo of it.
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- 'The 'kid ‘'wants pizza for ‘dinner.

- 'Painting and 'reading are my 'favorite "hobbies.
i She has 'been to 'Australia, but she "hasn’t "been to
New Zealand.

In.structor: “been” is stressed here because it is the
main verb. “Hasn’t” is stressed here because I want to
stress the negative. I want to make clear that she hasn’t

travelled to New Zealand.
That leads us to the rule that these function words can

be stressed and unstressed.
Function Words are not stressed when they are in a

sentence.
Fanction Words are stressed when they are alone. |
s

Function Words are stressed in a sentence when

want to emphasize the meaning.
So, when we want to emphasize the meaning of a
gardless whether it 1s a

cerfain word, we stress it re
content word or function word.
Let us take an example:
_ The 'letter is 'from her, no
S, here I want to stress that 1
_ 'What are you 'looking ‘for?
Here, the stress 1s placed on the

emphatic purposes.
Words are_stressed in)a\

Sometimes, Function
sentence when they are at the end of a sentence. |

Let us take an example:

t 'to her.
t is from her, not to her.

preposition ‘for’ for

_'Coffee is what I am 'fond _of. |
So, the word ‘of” 1S stressed because it is at the end of
the sentence.
* %k %
e —
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WWcak Forms:
ed earlier, words in languages are of two

A5 mention '
ppes’ function words arfd content words. In_English,
qimost_all the words which have both a strong and a
MM_QKQ function words. In certain circumstances,
these words can be pronounced in their strong forms,
put they are more frequently pronounced in their weak

orms. .
So, we have strong and weak forms of function words

like she, he, a, an, those, these, etc.

When we want to use them in the special cases we
mentioned earlier, then we use their strong forms. On the
other hand, when they are being put in a sentence for

grammatical purposes, we usc the weak forms of them.
% %k ok

Now, I will give you some words, and you have to tell
me which part is stressed.

- School

Student: It is a word that consists of one syllable. So,
the stress is on the whole word.

Instructor: Exactly!

- Vegetable

Student: It is on the first syllable.

Instructor: Yes, /' ved3.ta.bal/

- Computer

Student: It is on the second syllable.

Instructor: Yes, /kom'pju:.to/

- Open-minded

Student: It is on the second part.

Instructor: Yes, / v.pan 'main.did/

nza_laﬁw 31 A\

AL ANV AR

CamScanner 2 s d> guadll


https://v3.camscanner.com/user/download

- Breakfast
Student: It is on the first syllable.

Isstructor: Yes.

- Colleague
Student: It is on the first syllable.
Instructor: Yes, /'kol.i.g/

- Employee
Student: It is on the first syllable.
Isstructor: Yes, /im'plori/. Actually, this is an

exception. Usually, when we have the suffix (-ee)
referring to a person, we stress it. The following word 1s

an example of this:

- Refugee
Here, the stress on the last syllable / ref.ju’d3i:/

- Purchase
Student: The stress is on the first syllable.

Instructor: Exactly, /'p3:.t/as/

-Event

Student: The stress is on the second syllable.
Isstructor: Yes, /1'vent/.

hat' all IR0

That’s all for today.

Demo
BEUEIE R
036333

Thank You!

This is Schwa.

Schwa is not stressed.

Schwa is cool.

Be like Schwa.

'3. alanwar.us
AL ANWAL .
CamSc:


https://v3.camscanner.com/user/download

